*Script_TPO1_Application_03

% APPLICATION 3:

\

x=deg2rad (27)
y1=(((4/3)*x"2+5)/ ((2/5)+5%cos ((2+x) /8)) )+ (5*sin (x) /3)
y2=(((1/5)*cos ((1/3)+((2*x"2+3) / ((2/5)+6*cos ((1/3)+(2+x)/2))))) +. ..
((sin(x)+3)/5)+ ((1+x) /7)) / ((1/12)+ (cos (pi+(x/12)))"3)

*Commande window

>>TP1_Application_03

0.4712

1.7824

-0.8199
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[ Name =« | TP1_Application 03.m ¢ | Name = Value
BTPLAppIication_m.m ik % APPLICATICN 3: U HH x 04712
) Tp1_Application_02.m 2-  x=deg2rad(27) = Hy 17824
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»» TP1 Application 03
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